\ ///
4

Sy74

‘L%’T =
_——
a0 \. wa®
e i < AN e
' 2 .
%5 £ =
Y < =,
h

BRI 1 & 28 : ERJIAFEH
BRIl 2&m 29 : L MER
B 7 3 & 31 ERINEREM
B FR/INEBOE R

E R tE

& A EEH

= FIE

5 LLIBT 15 B

ONPON=

—
o1 o

S=1/25,000




5
6
8

I E AEER
)l £ BiEER
 KEF v U
10 :
11 :

3 B IE B
R 31 28

12 bR 1 & B
13 : K 2 1E B

- FiE 1 EB
: :FFE’6 12 B

. T % 5 EER

- T % 8 =R
HELTZ b1

XTI M 2EH

 ZFILAERR




LRGEANIT

\NZe;

\

N
\

S
)
&

\W

S

11

 EKEF v U
10 :

3 B IE B

. IR A& B
12 -
13 :
14 -
15 :
16 :
19 :

LK 1 & B
LK 2 & B
Fi% 1 &=
TFi% 6 =
Fi% 2 =B
AEEH

20 :
22 :
23 :
24 :
27 :
30 :
32 :
33 :
34 :
35 :

Fi% 3=

Fi% 4 55

Fi% 5=

Fi% 7 25

Fi% 8 1= Hh

PR DS = B 1)
D)V UF AU RYIER
DUl T ZFIVAER
VXTI 2EH

—FILHEB
1:25,000

1000 2000 m




AN
5071146
64§

%%5

\&?‘
%, . y\ "/,
s

TTTEs

—— T
o

L3 T,
% \,

N y

2 o \\ %
>
%
g

= \m@( \L N N =4 ) ./U:@%ﬂwgw/w X
\lﬁW@MW%%WM%WWWMW .&@Wv,
=" 0MWMWMW & %W.Q )
/ j/@”c% / = ,/,/Wm\.,,

2 &

L

D 2\
s < iy
iR
AR AN
NN D
LEKND
~— © ©
— AN AN ™

1:25,000

S=



